T AS AEHY?

vr=7 A4k

KeX
=

(-2) x (=3%) = 6






@ 2 ® 3 @ 4 ® 5

D1



1
=
R

s

oA

=
=
S}
=

ek Ay
= Il

@ 8cm ® 10cm & 12cm ® 24cm

® 6cm



Z0]7F 108cm ¢l

94

71=29] A o7} 72cm, A=

5.

92

=
=

mFe] erd =2 7t

@ 12ecm @ 18cm @ 24cm ® 36cm

@ 6cm



== |

—1 O =

Wl 27171 2o AR 2ol BAS MEgle] ol T gt

1Y A42 Hhe A7) Zol=w o] ¢ Mo Lol & o
olofo} SH=7}7 gt Bplo] @ A7t AL H =T

@ 18cm, 35 7} @ 24cm, 35 7N @ 18cm, 40 7}

@ 24cm, 40 74 ® 28cm, 40 7}



ol Ad4-2 74 E UHFH 2 7Y, 131 S YFA 5 7, 94
E U 4 7F SETha vk o]=ish A oA 7P 2 0

@ 4 @ 6 @ 8 @ 18 ® 24



ofE S 332 LW Lhro] ol 25 & U H 30
2 WP 4 7} mARokR Sk, o]ejdt 4 % APy 2 SR

b}

o1, 51

)

@ 3 @ 7 @ 11 @ 13 ® 15



118 & Y+4 2 7} mxeti

@ 4 ® 2



K



o

AN -7 ol ti-&st= H&

=2RE Z2 A =

@ -3 ® -15

A4 digst= d= B

ol dga

@ 15

X
T

st



g 7hed] AL ol 2ol AgHst

©)

N w

@ ® 4

w| o



13. of" Aol -6 & wefioF & Ae &5t -6 = WdEiYy 0 °]
S et vr=A At 222

® -36 @ 36 ® -12 @ 12 ® 0



14.

Lol olE R4 a8

sof st FEete] 2 oA My -2

of HAtt. vEA ALt AS A1=w?



15. of@ fel5

ﬂ%ﬂﬂ

@

Wl N

oA - & wo}

At BE=A| AR 2E2?

@

L

5}

[e]
=

©)



16. t= F 28t=A At A7 (7 270)

7 3 1 -
@© Yl #84 “3: 73030 -3 FoA A2 o2 Al =5 Hot
—ZT;J S 7}%; 2 oA 7P 22 5w g2 14 o]t
@ -3 Eﬂ}ﬂﬂiiq&%@#%—l,—z—?,,o,1,2,3
ot
@ A YolA -6 o Hi} 4 ol Hol gt 7o = M2 0
ot}
@ Adigro] 5 Bt ZHal 2 Mol A 2] @ BEZof gl
Ae=1,2,3, 40|
L 12360 15 o o N =
® A 5 iy o] o] Flof Fololx AFAxT} B =
140
47t obd {4 FollA 7HY 22 = ot}



17.

Zd S
xF‘jTt‘

(B7)0] Ul ] frel4 FNA o= Al 55 B
HYzke oo 3 Stk 57} 79 Hogre?

2t A& 5t

H7




ol

Ho

2 A 52 Bol

oM M= o

® 21

@ 15

® -14



19. 2999 x 7 & A= B A 4= 3l At W22

@ a+b=b+c @ axb=bxa

® ab+c)=axb+axc @ (a+b)+c=a+(b+c)

® ax(bxc)=(axb)xc



20. 4x2.99+ 96 x 2.99 2 AArsHA?

@© 287 @ 288 ® 298 @ 299 ® 309



21. o= F Al T8 ab,c ol dist] 9 AL2?

®ax(bb-c)=axb-axc @ (axb)xc=ax(bxXc)
®a-b=b-a @ axb=bxa

® a+b=b+a



22. Y% AB.CDE M HE F5oltt v 347} e 202 B
WEY T, §L AL BF T2

© B+D=0
© BxD<0,A-D<0

@ A = B Erh dHef 77k el

D BxC>0 @ AxD<0
® A+B>0 @ A+B+C+D<0

® C<B<A<D



23. a<0,b>02L W, s T &2 A27

® a-b>0 @ a+b<0 @ b-a>0

@ axb>0 ® b4+a>0



24. x<0<y 4, tsF &2 A7

@ x>y @ |x <yl ® Iy<0

@ |xl+y>0 ® lx—yl <l



